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ANSWERS TO PRACTICE QUESTIONS – IF CONSTRUCT 
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𝑥 =
−𝑏 ±  𝑏2 − 4𝑎𝑐

2𝑎
 

Roots of the quadratic 

equation is given by: 
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count variable will keep a count 

of the number of subjects in 

which a students has failed . 

This else will be executed when 

count = 0 which means the student 

has not failed in any subject 

We did not write the if ..elif 

construct because a student 

could fail in more than one 

subject and that too any 

subject 
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We want to display all the calculated values only 

if the category is a valid category. The in operator 

is a membership operator which checks if 

category is in the given list of values and executes 

the lines below only if it is True. 
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In this program we are assuming that the user 

would be entering valid season and type of car. 

You could also do it like we did the previous 

programs , informing the user about incorrect 

season or car type.  


